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QUESTION ONE: Causes of economic growth

During 2020, the countries of the United Kingdom (England, Scotland, Wales, and
Northern Ireland) left the European Union, allowing them to negotiate new trade
agreements with other countries, including New Zealand.

Model One: Circular flow model
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(a) Referring to the ‘Producers’ and ‘Households’ sectors of the circular flow model, fully explain

how increased trade with markets in the United Kingdom will increase growth in New Zealand.
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The United Kingdom’s departure from the European Union allows it to enter into free USE ONLY
trade agreements with New Zealand. The United Kingdom has many technology firms
with highly efficient capital goods and production processes that at present are not sold
in the New Zealand market.

New Zealand firms are likely to be created or expanded to sell into the United Kingdom
market or to take advantage of the imported technology from the United Kingdom.

(b) (i)  On Graph One, illustrate and label the shifts of aggregate demand AND
aggregate supply that will occur over time if New Zealand increases trade with the
United Kingdom.

Graph One: AD/AS model of the New Zealand economy

A

AS

Price
level

PL

>
Y Real GDP

(i)  Referring to Graph One, fully explain the impact on growth from the shift of the
aggregate demand curve AND the aggregate supply curve.

(Please turn over » )
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(c) Fully explain why the impact on growth from the shift of the aggregate demand curve might
be greater than the impact from the shift of the aggregate supply curve. In your explanation,
refer to Graph One on the previous page.

Economics 91224, 2020



This page has been deliberately left blank.
The examination continues on the following page.

Economics 91224, 2020




6

QUESTION TWO: Models and measurement of economic growth

(@) (i) On Graph Two, illustrate an increase in productive capacity, and label this new

frontier BB.
Graph Two: Production possibility frontier
A
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(i)  Fully explain the shift you have made to the production possibility frontier.
Include TWO economic reasons that can cause the shift, giving an appropriate
example for each.
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(b) Compare and contrast real GDP (gross domestic product) and net social welfare as ASSESSOR'S
measurements of economic growth. Fully explain:

. the strengths and weaknesses of real GDP compared to net social welfare as a
measure of economic growth

. why net social welfare may be a better measurement of economic growth than real
GDP, based on its strengths and weaknesses.
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QUESTION THREE: Port locations and economic growth ASSESSOR'S

USE ONLY

Recent public discussion has focused on the movement of the Auckland port to another
region. The existing port faces traffic congestion, environmental issues, limited
opportunities to grow and inefficient export support services.

The value of cargo passing through the port is approximately $25 billion annually,
mainly imports. The port employs 600 workers directly, and thousands more
indirectly.

Any new port location will require investment in rail, roads and other supporting
infrastructure, as well as vacant land resources to allow for future expansion and the
setting up of export and import support industries.

Sources: https://figure.nz/chart/3pjj1jT5nQpsvqn9-pxM295vt T54tMAW3
https://www.transport.govt.nz/multi-modal/keystrategiesandplans/upper-north-island-supply-chain-strategy/

Compare and contrast possible impacts for New Zealand’s economic growth if the Auckland port is
moved to a new location (for example, Northport at Marsden Point, Northland).

In your answer, fully explain:

. two positive and two negative impacts for households in the new port location
. two positive and two negative impacts for firms in the new port location
. the long-term benefits for the New Zealand economy from the movement of the port.
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